
AJMAL NATIONAL TALENT SEARCH (ANTS) EXAMINATION - 2013
CLASS : V

Time : 2 Hours / a]Ì̂  f 2 H³Oôç Full Marks / ]ÇPö X¶‘ö» / å]ç»Oô X¶‘öÌ[ý f (25+25+25+25)=100

General Knowledge / açWýç»S pûçX / açWýç»Ì[ýS pûçX

1. If ' The city of Lakes' is Udaipur, then the 'City of Nawabs and Kababs' is .................
=VÌ̂ YÇ» ̂ ×V âÑ÷V XG»Ý c÷Ì̂  åTöãÜ™ö X[ýç[ý %ç»Ó Eõç[ýç[ý» XG»Ý éc÷ä$K÷ .......................*
^×V =VÌ̂ YÇÌ[ý "âÑ÷V XGÌ[ýÝ', Töã[ý "X[ýç[ý C Eõç[ýçã[ýÌ[ý XGÌ[ýÝ' c÷'_ ...........................*
(A) Hyderabad (B) Kolkata (C) Lucknow (D) Agra

c÷çÌ̂ VÐç[ýçV Eõ_EõçTöç _å©Âùì %çGÐç

2. 'Urvashi Dholakia' is the winner of ..................
=[ýï̀ Ý åRôýç_EõÝÌ̂ ç ............................ » ×[ýãLTöç* / =[ýï̀ Ý åRôç_EõÝÌ̂ ç ............................ AÌ[ý ×[ýãLTöç*
(A) Miss India 2012 (B) Big Boss Season 6

×]$$K÷ +×‰øÌ^ç, 2012 / ×]a +×‰øÌ̂ ç 2012 ×[ýG [ý$Jô ×$JôLX 6 / ×[ýG [ýa ×aLX 6
(C) Star Parivar Best Actress, 2012 (D) None of these

rôç» Y×»[ýç» æ`Òœö %×\öãXyÝ 2012 A$OôçC Xc÷Ì̂
ºOôçÌ[ý Y×Ì[ý[ýçÌ[ý æ`Òrô %×\öãXyÝ 2012 AEõ×»OôC XÌ̂

3. The total number of medals won by India in the London Olympics :
_‰øX %×_×¶YEõTö \öç»ãTö ]ÇPö ..................... Oôç YVEõ ×L×Eõ×$K÷_* / _³QöX %×_×¶YãEõ \öçÌ[ýTö å]çOô ........................ Oôç YVEõ ×LãTö*
(A) 4 (B) 5 (C) 6 (D) 3

4. Presently the mobile network company that is not in service in Assam :
åEõçXäOôç å]ç[ýç+_ åEõç¶YçXÝ» åa¾ç [ýTöÛ]çX %a]Tö =Y_•ù Xc÷Ì^ ? / [ýTöÛ]çãX å^ å]ç[ýç+_ åXOôCÌ̂ çEïõ åEõç¶YçXÝÌ[ý åa[ýç %çaçã] åX+ ?

(A) (B) (C) (D)

5. Which of the following is not an abbreviation of a national party in India ?
Tö_» åEõçXäOôç \öç»Tö» LçTöÝÌ^ V_» ae×lùŠ »ÖY Xc÷Ì^ ? / XÝä»JôÌ[ý åEõçX×Oô \öçÌ[ýãTöÌ[ý LçTöÝÌ̂  Vã_Ì[ý ae×lùŠ Ì[ýÖY XÌ̂  ?
(A) NDA (B) NCP (C) BSP (D) CPI(M)

AX ×Qö A AX ×$Jô ×Y/ AX ×a ×Y  ×[ý A$K÷ ×Y / ×[ý Aa ×Y       ×$K÷ ×Y %ç+ (A])/  ×a ×Y %ç+ (A])

6. A consumer in India can avail of number portability for ....................
ALX \öç»TöÝÌ̂  GÐçc÷ãEõ ................................. » ålùyTö X¶‘ö» Y»äOô×[ý×_×Oô aÇ×[ýWýçäOôç =Yã\öçG Eõ×»[ý Yçã»*
AEõLX \öçÌ[ýTöÝÌ̂  GÐçc÷Eõ ........................... AÌ[ý ålùäy "X¶‘öÌ[ý YäOôÛ×[ý×_×Oô' aÇ×[ýWýç å\öçG Eõ×Ì[ýãTö YçãÌ[ý*
(A) Bank Account (B) Gas Connection (C) Insurance Policy (D) Mobile

å[ýeEõ AEõç=°Oô åG$K÷ aeã^çG / Gîça aeã^çG [ýÝ]ç Y×_×Jô/ [ýÝ]ç Y×_×a å]ç[ýç+_ åa[ýç

7. The river that is on the north bank of the Brahmaputra is ..................
[ýÐ¡ùYÇy» =wø» Yçã» UEõç XVÝFX éc÷ä$K÷ ......................* / [ýÐ¡ùYÇäyÌ[ý =wøÌ[ý YçãÌ[ý UçEõç XVÝ×Oô c÷_ .......................*
(A) Dikhou (B) Buridihing (C) Subansiri (D) Sonai

×VãFì [ýÇRÍôÝ×V×c÷e aÇ¾X×a×» / aÇ[ýX×`×Ì[ý åaçXç+

8. The oldest oil refinery in Asia is ...................
A×$K÷Ì^ç» %çOôç+TöêEõ YÇ»×S åTö_ å`çWýXçGç»äOôç éc÷ä$K÷ .....................* / A× Ì̀̂ çÌ[ý a[ý»Jôç+ãTö YÇÌ[ýçãXç åTö_ å`çWýXçGçÌ[ý c÷_ ............................ å`çWýXçGçÌ[ý*
(A) Digboi (B) Barauni (C) Bongaigaon (D) Haldia

×QöGê[ý / ×QöG[ýÌ̂ [ýç»ç=XÝ / [ýçÌ[ýç=XÝ [ý†ç+GçCg c÷_×VÌ̂ ç



9. 'World Forest Day' is observed on :
"×[ý Ÿ̀ [ýX ×V¾a' ................................. Töç×»ãF Yç_X Eõ»ç c÷Ì̂ * / ×[ý Ÿ̀ %Ì[ýSî ×V[ýa ....................................... Töç×Ì[ýãF Yç_X EõÌ[ýç c÷Ì̂ *
(A) 2 Febuary (B) 21 March (C) 22 May (D) 3 May

2  åZõ[ýÐÓ¾ç»Ý / åZõ[ýÐÓÌ̂ çÌ[ýÝ 21 ]ç$JôÛ 22 å] 3 å]

10. The quality of water vapour in air is measured with :
[ýçÌ̂ ÇTö UEõç L_ÝÌ̂  [ýç¹Y» Y×»]çS .................................... » ¥ç»ç åLçFç c÷Ì̂ *
[ýçÌ̂ ÇãTö UçEõç L_ÝÌ̂  [ýçã¹YÌ[ý Y×Ì[ý]çS .......................... ¥çÌ[ýç ]çYç c÷Ì̂ *
(A) Thermometer (B) Hygrometer (C) Rain Gauge (D) Anemometer

Uçã]ïç×]Oôç» / Uçã]ïç×]OôçÌ[ý c÷ç+GÐ'×]Oôç» / c÷ç+GÐ×]OôçÌ[ý å»+XGL / åÌ[ý+XGL A×X]'×]Oôç» / A×X]×]OôçÌ[ý

11. "Right to Education Act' was passed in ....................
............................ $JôXTö "×`lùç» %×WýEõç» %ç+X' GÊc÷ÝTö éc÷×$K÷_* / ................................ aãX "×`lùçÌ[ý %×WýEõçÌ[ý %ç+X' YÒSÌ̂ X EõÌ[ýç c÷Ì̂ *
(A) 2002 (B) 2007 (C) 2009 (D) 2010

12. The first International Airport in India under private sector is in the state of ................
\öç»Tö[ýbï» ................................Tö åYçX YÒU][ýç»» [ýçã[ý [ýî×NþGTö F‰ø» %çÜ™öLÛç×TöEõ ×[ý]çX [ý³V» ØšöçYX c÷Ì̂ *
\öçÌ[ýTö[ýãbïÌ[ý .......................... [ýî×NþGTö Fã‰øÌ[ý YÒU] %çÜ™öLÛç×TöEõ ×[ý]çX [ý³VÌ[ý ØšöçYX EõÌ[ýç c÷Ì̂ *
(A) Kerala (B) Maharashtra (C) Delhi (D) Tamilnadu

åEõ»ç_ç / åEõÌ[ýã_ ]c÷ç»çrÑô / ]c÷çÌ[ýçärÑô ×V{Ý / ×V{ÝãTö Töç×]_XçQÇö / Töç×]_XçQÇöãTö

13. The first Assamese who revolted against the British :
+e»çL» ×[ý»ÓˆùçJô»S Eõ»ç YÒU] %a]ÝÌ̂ ç [ýî×NþLX éc÷ä$K÷ ........................* / +eÌ[ýçãLÌ[ý ×[ýÌ[ýÓãˆù ×[ýäVÐçc÷ EõÌ[ýç YÒU] %a]ÝÌ̂ çLX c÷ã_X ...................*
(A) Piyali Phukan (B) Gomadhar Konwar (C) Maniram Dewan (D) Jiuram Dhulia

×YÌ̂ _Ý ZÇõEõX åGç]Wý» åEõçg¾» ]×S»ç] åV¾çX ×L=»ç] RÇô_ÝÌ̂ ç
×YÌ̂ _Ý ZÇõEõX åGç]WýÌ[ý åEgõçCÌ[ý ]×SÌ[ýç] åVCÌ̂ çX ×L=Ì[ýç] RÇô_ÝÌ̂ ç

14. Minimum number of population in a Gaon-Panchayat is ..............
AFX GçCg Y‡ûçÌ̂ Tö» a[ýï×X¶oö LXaeFîç éc÷ä$K÷ ..............................* / AEõ×Oô GçCg Y‡ûçãÌ̂ ãTöÌ[ý a[ýï×X¶oö LXaeFîç c÷_ ...........................*
(A) 20,000 (B) 10,000 (C) 6,000 (D) 4,000

15. The tribes- Riang and Rangkhol are found in .............
×»Ì^çe %ç»Ó »eF_ %ç×V LXLç×Tö ........................ Tö åYç¾ç ^çÌ^* / ×Ì[ýÌ̂ çe, Ì[ýeF_ LXLç×Tö %ç]Ì[ýç åVFãTö Yç+ ...............................*
(A) Mizoram (B) Manipur (C) Tripura (D) Myanmar

×]ãLç»ç] / ×]ãLçÌ[ýçã] ]×SYÇ» / ]×SYÇãÌ[ý ×ÅyYÇ»ç / ×ÅyYÇÌ[ýçãTö ]îçX]ç» / ]îçX]çãÌ[ý

16. The festivals ' Baishagu' of Bodo, "Ali Aye-Ligang" of Mising and "Baisageet of Dewri are associated with :
[ýäQÍöç aEõ_» é[ý`çGÝ, ×]×$JôeaEõ_» %ç×_-%çãÌ̂  ×_Gçe %ç»Ó åV=»ÝaEõ_» [ý+`çGÝTö %ç×V ................. » _GTö L×QÍöTö =da¾*
[ýäQÍöçãVÌ[ý "é[ý`çm' ×]×aeãÌ̂ Ì[ý "%ç×_-%çãÌ̂  _ÊGçe', åV=Ì[ýÝãVÌ[ý "é[ý`çGÝTö' ..................... açãU L×QÍöTö*
(A) Religion (B) Agriculture (C) Marriage (D) None of these

Wý]ï / Wýã]ïÌ[ý EÊõ×b / EÊõ×bÌ[ý ×[ýÌ^ç / ×[ýãÌ^Ì[ý AOôçC Xc÷Ì^ / AEõ×OôC XÌ̂

17. The chief editor of the daily newspaper 'The Assam Tribune' is ...............
"×V %çJôç] ×®Ïô×[ý=X' éV×XEõ EõçEõTö» ]ÉFî a¶YçVEõ éc÷ä$K÷ ....................* / "×V %çaç] ×®Ïô×[ý=X' ae[ýçVYäyÌ[ý ]ÇFî a¶YçVEõ c÷ã_X .......................*
(A) Homen Borgohain (B) Kanaksen Deka (C) Bijoy Krishna Nath (D) P.G. Baruah

åc÷çã]X [ý»ãGçc÷ç×AÕ EõXEõãaX åQöEõç ×[ýLÌ^ EÊõbÕ XçU ×Y.×L [ý»Ó¾ç
åc÷çã]X [ýÌ[ýãGgçc÷ç+ EõXEõãaX åQöEõç ×[ýLÌ^ EÊõbÕ XçU ×Y.×L. [ýÌ[ýÓÌ̂ ç



18. The Indian actor who has not acted in 'Life of Pi'
"_ç+Zõ %Zõ Yç+' ×$JôãX]çTö %×\öXÌ̂  XEõ»ç \öç»TöÝÌ̂  %×\öãXTöçLX éc÷ä$K÷ ....................*
"_ç+Zõ %[ý Yç+' ×aãX]çãTö %×\öXÌ̂  Xç EõÌ[ýç \öçÌ[ýTöÝÌ̂  %×\öãXTöç c÷ã_X ........................*
(A) Adil Hussain (B) Irfan Khan (C) Ranbir Kapoor (D) None of these

%ç×V_ §ä$K÷+X +»ZõçX FçX »S×[ý» EõçYÇ» ALãXç Xc÷Ì̂
%ç×V_ §ãa+X +Ì[ýZõçX FçX Ì[ýS[ýÝÌ[ý EõçYÇÌ[ý =XçãVÌ[ý åEõc÷+ XX

19. +      

The correct figure in the blank box will be .................
'?' ×JôX» Pöç+Tö a×PöEõ ×$JôyäOôç c÷'[ý ................................*
'?' ØšöçãX a×PöEõ =wøÌ[ý [ýaçC*

(A) (B) (C) (D)

20. The brand 'John Players' deals in
LX æYÀÌ̂ ç» æ[ýÐ‰øäOôç ................................... » _GTö L×QÍöTö* / LX æYÀÌ̂ çaï æ[ýÐ³Qö×Oô ............................... AÌ[ý açãU L×QÍöTö*
(A) Garments (B) Sports items (C) Electronic items (D) None of these

[ýØ—ö åF_» aç]GÐÝ é[ýVÇî×TöEõ aç]GÐÝ A$OôçC Xc÷Ì̂
EõçYäQÍöÌ[ý åF_çÌ[ý aç]GÐÝÌ[ý é[ýVÇî×TöEõ aç]GÐÝÌ[ý AEõ×»OôC XÌ̂

21. If ECG is for heart, then EEG is for .................
^×V c÷ÖV^Ü—ö» ålùyTö ECG Eõ»ç c÷Ì^ åTöãÜ™ö ..................» ålùyTö EEG Eõ»ç c÷Ì^* / ̂ ×V c÷ÖV^ãÜ—öÌ[ý LXî ECG, Töã[ý .................. AÌ[ý LXî .EEG*
(A) stomach (B) liver (C) kidney (D) brain

YçEõØšö_Ý ^EÊõd [ýÊhõ ]×Ø™ö›õ

22. The logo  stands for

 A+ YÒTöÝEõäOôç ..........................* /  YÒTöÝEõ×Oô ........................ AÌ[ý*

(A) Bank of Baroda (B) Blackberry (C) British Council (D) Booker Prize
å[ýeEõ %¾ [ýã»çVç æ[ýÀEËõå[ý»Ý ×[ýÐ×Oô$K÷ Eõç=×‡û_ [ýÇEõç» YÒç+L
Ìå[ýáø %[ý [ýãÌ[ýçVç æ[ýÀEõã[ýÌ[ýÝ ×[ýÐ×Oô` Eõç=X×a_ [ýÇEõçÌ[ý YÒç+L

23. Find the odd one
%×]_äOôç [ýç×$K÷ =×_C¾ç* / %×]_×Oô å[ýä»K÷ XçCf
(A) Gulliver's Travel (B) David Copperfield (C) Malgudi Days (D) Alice in wonderland

Gç×_\öç$JôÛ æ®Ïôã\ö_$JËô åQö×\öV EõYç»×Zõ·Qö ]ç_mQÍöÝ åQöL A×_$Jô +X ¾ç‰øç»ã_‰ø
Gç×_\öçaï ®Ïôçã\ö_a åQö×\öQö EõYçÌ[ý×Zõ·Qö ]ç_mQÍöÝ åQöLË A×_a +X CÌ̂ ç³QöçÌ[ýã_³Qö

24. Health Drink 'Horlicks' is a product of ..................
Ø‘öçØšöî YçXÝÌ^ c÷»×_j ............................. åEõç¶YçXÝ» =dYç×VTö aç]GÐÝ* / "c÷Ì[ý×_j' .......................... åEõç¶YçXÝÌ[ý =dYç×VTö aç]GÐÝ*
(A) Nestle (B) Glaxo Smithkiln (C) Cadbury (D) Hindustan Uniliver

åX$K÷ã_ GÀçãjç ×Øö‚U×zõX åEõQöã[ý×» ×c÷³VÇØ™öçX +=×X×_\öç»
åXaËã_ GÀçãjç ×Øö‚U×zõX åEõQöã[ý×Ì[ý ×c÷³VÇØ™öçX +=×X×_\öçÌ[ý



25. The Asom Sahitya Sabha, 2013 session elected ............. as its new President
%a] aç×c÷Töî a\öç» $2013 JôX» %×Wýã¾`XTö ................................. Eõ XTÇöX a\öçY×Tö ×c÷$JôçãY ×X[ýïç×$JôTö Eõ»ç c÷Ì̂ *
%a] aç×c÷Töî a\öçÌ[ý 2013 %×Wýã[ý`ãX ...................... åEõ XTÇöX a\öçY×Tö ×c÷açã[ý ×X[ýïç×»JôTö EõÌ[ýç c÷Ì̂ *
(A) Kanaksen Deka (B) Rong Bong Terong (C) Homen Borgohain (D) Imran Shah

EõXEõãaX åQöEõç »e[ýe åTö»çe åc÷çã]X [ý»ãGçc÷ç×AÕ +]»çX ̀ Ÿçc÷
EõXEõãaX åQöEõç Ì[ýe[ýe åTöÌ[ýçe åc÷çã]X [ýÌ[ýãGçgc÷ç+ +]Ì[ýçX `çc÷

General English

Fill up the blank choosing the most appropriate option given below each question (See the adjoining brackets for
direction, if any)
26. Ten miles ............... not a great distance these days.

(A) is (B) are
(C) both "A" and "B" can be used (D) both "A" and "B" are wrong.

27. The plural of  Mr  is :
(A) Mrs (B) Ms (C) Messrs (D) Miss.

28. He invited me ...............   tea.
(A) for (B) at (C) to (D) with

29. This is ...............    me.
(A) a news to (B) a news for (C) news for (D) news to

30. All of them are jealous of  ................
(A) one another (B) each other (C) themselves (D) them

31. My sister is older than ................
(A) me (B) I (am) (C) mine (D) myself

32. ............... is a domestic animal.
(A) cow (B) a cow (C) the cow (D) cows

33. This is ...............
(A) Better (B) best (C) more good (D) more better

34. Which of the following can be used in singular sense  ?
(A) clothes (B) babies (C) Mathematics (D) trousers

35. Switzerland is............... European country.
(A) an (B)  a (C) the (D) one of

36. ''Blackboard'' is a  Compound Noun consisting of ...............
(A) Noun + noun (B) noun + adjective (C) adjective + adjective (D) adjective+noun

37. Let us begin ............... the first poem.
(A) at (B) in (C) by (D) with

38. The adjective connected with the word "dog" is ...............
(A) canine (B) bovine (C) feline (D) aquiline

39. She looks angry, ............... ( Add the tag question )
(A) does she ? (B) is she ? (C) doesn't she ? (D) isn't she?

40. We came ............... our car.
(A) by (B) in (C) with (D) on



41. I ............... you to see a doctor.
(A) advice (B) advise (C) both (A) and (B) can be used (D) advize

42. One with long experience in any field is called ...............
(A) an expert (B) a veteran (C) a pioneer (D) a wizard

43. Pick up the correct spelling from among the following :
(A) sattellite (B) sattelite (C) sateilite (D) satellite

44. The  correct passive form of the following sentence - "I know him"- is ...............
(A) He has been known by me (B) He is known to me
(C) He is known by me (D) He was known by me.

45. The correct indirect speech form of the sentence - " Please do not go away", she said is ...............
A) She told me to not go away. (B) She begged that I not go away.
(C) She requested me to not go away. (D) She requested me not to go away.

46. Choose the option that best expresses the opposite meaning of the underlined word. " This is a trivial matter."
(A) Small (B) difficult (C) important (D) easy

47. Choose the option that best expresses the same meaning of the underlined word.
" My grandfather has been getting feeble of late."
(A) Diseased (B) sleepy (C) angry (D) weak

48. Bird is to nest as Eskimo is to ...............
(A) caravan (B) hovel (C) snow burrow (D) igloo

49. Bird is to aviary as pig is to ...............
(A) stable (B) kennel (C) sty (D) coop

50. "Many people in our country do not get a square meal a day."
The meaning of "square meal" is :
(A) Food for four times in a day (B) A nutritious meal
(C) Food for two times in a day. (D) Food with much less calorie value.

General Maths / açWýç»S G×STö / açWýç»Ì[ýS G×STö

51. Numeral for five hundred three million eight thousand seven hundred two is ...............
"Ygç$Jô` ×Tö×X ×X Ç̂Töö %çPö c÷çLç» açTö` VÇ+' Eõ %eEõã» ×_×Fã_ c÷'[ý ..........................*
Ygç»Jô` ×TöX ×X Ç̂Tö %çOô c÷çLçÌ[ý açTö` VÇ+ åEõ %eãEõ A+\öçã[ý ×_×FãTö Yç×Ì[ý .............................*
(A) 50,03,80,702 (B) 50,38,00,702 (C) 50,30,08,702 (D) 50,30,80,702

52. A number is divisible by 8, if the number formed by the digits in ................ places is divisible by 8.
AOôç aeFîç 8 å» ×[ý\öçLî c÷'[ý, ^×V aeFîçäOôç» .......................... » H»» %eEõ åEõ+Oôç 8 å» ×[ý\öçLî c÷Ì̂ *
AEõ×Oô aeFîç 8 ¥çÌ[ýç ×[ý\öçLî c÷ã[ý, ^×V aeFîç×OôÌ[ý ................................ HãÌ[ýÌ[ý aeFîçm×_ 8 ¥çÌ[ýç ×[ý\öçLî c÷Ì̂ *
(A) Units and tens (B) Tens and hundreds (C) Units (D) Units, tens and hundreds

AEõEõ %ç»Ó Vc÷Eõ Vc÷Eõ %ç»Ó ̀ TöEõ AEõEõ AEõEõ, Vc÷Eõ %ç»Ó ̀ TöEõ
AEõEõ A[ýe V`Eõ V`Eõ A[ýe `TöEõ AEõEõ AEõEõ, V`Eõ A[ýe ̀ TöEõ

53. The difference of two numbers is 1,74,325. If the greater number is 87,65,432 then the smaller number is ........
VÇOôç aeFîç» YçUïEõî 1,74,325, ̂ ×V QöçIø» aeFîçäOôç 87,65,432 c÷Ì̂  åTöãÜ™ö a»Ó aeFîçäOôç c÷'[ý ......................*
VÇ×Oô aeFîçÌ[ý YçUïEõî 1,74,325, ^×V [ýQÍö aeFîç×Oô 87,65,432 c÷Ì̂  Töã[ý æ»K÷çOô aeFîç×Oô c÷ã[ý ....................*
(A) 85,90,107 (B) 85,91,107 (C) 85,92,107 (D) None of these

AOôçC Xc÷Ì̂  / AEõ×OôC XÌ̂



54. Four bells ring at intervals of 6,7,8 and 9 seconds respectively. All the bells ring together after .......... seconds.
$Jôç×»Oôç H³Oôç yÔã] 6,7,8 %ç»Ó 9 æ$K÷ãEõ‰ø» [ýî¾WýçXTö [ýçãL* %çOôç+ãEõ+Oôç H°Oôç .............................. æ$K÷ãEõ‰ø» ×Y$K÷Tö AãEõ_ãG [ýç×L[ý*
»JôçÌ[ý×Oô H³Oôç yÔã] 6,7,8 A[ýe 9 åaãEõã³QöÌ[ý [ýî[ýWýçãX [ýçãL* a[ýEõÌ̂ ×Oô H³Oôç ....................... åaãEõã³QöÌ[ý YÌ[ý AEõaçãU [ýçLã[ý*
(A) 504 (B) 516 (C) 508 (D) None of these

AOôçC Xc÷Ì̂  / AEõ×OôC XÌ̂
55. Number of prime numbers from 1 to 50 are ......................

1 » Y»ç 50 é_ å]ì×_Eõ aeFîç» ]ÇPö aeFîç ....................* / 1 åUãEõ 50 Y ï̂Ü™ö aeFîçÌ[ý ]ãWýî UçEõç å]çOô å]ì×_Eõ aeFîç c÷'_ ................*
(A) 18 (B) 112 (C) 15 (D) None of these

AOôçC Xc÷Ì̂  / AEõ×OôC XÌ̂
56. In Anil's flower garden 1

7
th are white roses, 4

7
th  yellow roses and the rest are red roses. What fraction of the

roses is red ?
%×X_» ZÇõ_» [ýç×G$K÷çTö 1

7  %e` [ýGç åGç_çY 4
7  %e` c÷ç_WýÝÌ̂ ç åGç_çY %ç»Ó [ýçEõÝ×F×X »Iøç åGç_çY %çä$K÷* [ýç×G$K÷ç FX» ×Eõ]çX %e` »Iøç

åGç_çY %çä$K÷ ?
%×Xã_Ì[ý ZÇõã_Ì[ý [ýçGçãX 1

7  %e` açVç åGçYç_, 4
7  %e` c÷_ÇV åGç_çY A[ýe [ýçEõÝ %e` _ç_ åGç_çY* [ýçGçãX _ç_ åGç_çãYÌ[ý %e` .................*

(A) 1
7 (B) 2

7 (C) 3
7 (D) 4

7
57. 124 x 4 - 3 + 118 ÷ 2 = ..................

(A) 552 (B) 496 (C) 553 (D) None of these
A$OôçC Xc÷Ì^ / AEõ×»OôC XÌ̂

58. 1 1
3 x 3 1

4 x 7
8 =..........................

(A) 3 18
34 (B) 2 19

24 (C) 3 19
24 (D) None of these

A$OôçC Xc÷Ì^ / AEõ×»OôC XÌ̂
59. 0.8 0.9Y

On the above number line Y represents ...............
CY»» aeFîç å»FçTö Y » ]çX ..........................................* / =YãÌ[ýÌ[ý aeFîçãÌ[ýFçÌ^ Y AÌ[ý ]çX .......................*
(A) 0.83 (B) 0.88 (C) 0.86 (D) None of these

A$OôçC Xc÷Ì̂ /AEõ×»OôC XÌ̂

60. Which number is equal to 0.1 0.001 1
0.001 0.01

⎛ ⎞+ +⎜ ⎟
⎝ ⎠

0.1 0.001 1
0.001 0.01

⎛ ⎞+ +⎜ ⎟
⎝ ⎠

» a]çX aeFîçäOôç ×Eõ ? / AÌ[ý a]çX aeFîç×Oô ×Eõ ?
(A) 101.1 (B) 11.10 (C) 11.01 (D) None of these

A$OôçC Xc÷Ì^ / AEõ×»OôC XÌ̂
61. 100 - 7 x 1 + 5 = ......................

(A) (100-7) x (1+5) (B) (100-7) x 1+5 (C) 100-7 x (1+5) (D) None of these
A$OôçC Xc÷Ì̂ /AEõ×»OôC XÌ̂

62. The temperature of first object is 360C and that of second object is 360F. Which is hotter ?
VÇOôç [ýØ™Çö» YÒU]äOôç» =bÕTöç 360 C %ç»Ó ×¥TöÝÌ^æOôç» 360F c÷'ã_ åEõçXäOôç [ýØ™Çö» =bÕTöç %çXäOôçTöêEõ å[ý×$K÷ c÷'[ý ?
VÇ×Oô [ýØ™ÇöÌ[ý YÒU]×OôÌ[ý =bÕTöç 360 C A[ýe ×¥TöÝÌ^×OôÌ[ý =bÕTöç 360F c÷ã_ åEõçX [ýØ™Çö×OôÌ[ý =bÕTöç a[ý»Jôç+ãTö å[ý`Ý c÷ã[ý ?
(A) First object (B) Second object

YÒU]äOôç» / YÒU]×OôÌ[ý ×¥TöÝÌ̂ äOôç» / ×¥TöÝÌ̂ ×OôÌ[ý
(C) Both have same hotness (D) Cannot be determined

VÇãÌ^çOôç» =bÕTöç AãEõ / VÇ×OôÌ[ý =bÕTöç AEõ+ ×XSïÌ^ Eõ×»[ý åXç¾ç×» / ×XSïÌ̂  EõÌ[ýãTö Yç×Ì[ýXç



63. The average age of 6 students is 11 years. If two more students of age 14 and 16 years join, their average age
will become ................. years.
6 LX $K÷çy» GQÍö [ýÌ^a 11 [ý$K÷»* ^×V 14 %ç»Ó 16 [ý$K÷»» VÇLX $K÷çy %çãEõì å^çG ×VãÌ̂  åTöãÜ™ö åTöCgã_çEõ» GQÍö [ýÌ̂ a c÷'[ý ......................... [ý$K÷»*
6 LX »K÷çäyÌ[ý [ýÌ̂ ãaÌ[ý GQÍö 11 [ý»K÷Ì[ý* ^×V 14 A[ýe 16 [ý»K÷ãÌ[ýÌ[ý VÇLX »K÷çy å^çG åVÌ̂ , Töã[ý TöçãVÌ[ý [ýÌ̂ ãaÌ[ý GQÍö c÷ã[ý ...................... [ý»K÷Ì[ý*

(A) 13 (B) 12 (C) 12 1
2 (D) 11 1

2

64. Two numbers are respectively 20% and 50% more than the third number. What % is the first number of
the second ?
VÇOôç aeFîç TÊöTöÝÌ^äOôç aeFîçTöêEõ yÔã] 20% %ç»Ó 50% å[ý×$K÷ c÷'ã_ YÒU] aeFîçäOôç ×¥TöÝÌ̂  aeFîç» ×Eõ]çX ̀ Töçe` ?
VÇ×Oô aeFîç TÊöTöÝÌ^ aeFîç×Oô åUãEõ ^UçyÔã] 20% A[ýe 50% å[ý`Ý c÷ã_ YÒU] aeFîç×Oô ×¥TöÝÌ̂  aeFîçÌ[ý ̀ TöEõÌ[ýç EõTö c÷ã[ý ?
(A) 40% (B) 50% (C) 80% (D) 70%

65. The simple interest on a sum of money is 1
9 th of the principal and the number of years is equal to the rate %

per annum. The rate % per annum is ...............
åEõçãXç ]É_WýX» a»_ aÇTö ]Ç_WýX» 1

9  %e`, a]Ì̂  %ç»Ó aÇTö» c÷ç» a]çX c÷'ã_, aÇTö» c÷ç» c÷'[ý ......................*

åEõçX ]É_WýãXÌ[ý aÌ[ý_aÇV ]É_WýãXÌ[ý 1
9  %e`, a]Ì̂  A[ýe aÇãVÌ[ý c÷çÌ[ý a]çX c÷ã_ aÇãVÌ[ý c÷çÌ[ý c÷ã[ý .........................*

(A) 3 1
3 % (B) 3% (C) 1

3 % (D) 10%

66. A cycle travels at a speed of 45 km/h. How far will it travel in 36 minutes ?
AFX $Jôç+ãEõ_ H°OôçTö 45 ×Eõ.×]. å[ýãGã» G×Tö Eõ×»ã_ 36 ×]×XOôTö ×Eõ]çX VÉ»±¼ö %×TöyÔ] Eõ×»[ý ?
AEõ×Oô aç+ãEõ_ H³OôçÌ^ 45 ×Eõ.×]. å[ýãG »Jô×_ã_ 36 ×]×XäOô EõTöVÉÌ[ý %×TöyÔ] EõÌ[ýã[ý ?
(A) 27 km (B) 20 km (C) 36 km (D) 45 km

27 ×Eõ.×]. 20 ×Eõ.×]. 36 ×Eõ.×]. 45 ×Eõ.×].

67. In the given figure below, points A,O and C lie on the same line.
Tö_Tö ×VÌ^ç ×$JôyTö A,O %ç»Ó C ×[ý³VÇãEõ+Oôç AãEõ å»FçTö %çä$K÷*
XÝä»Jô åVCÌ^ç ×»Jôäy A,O A[ýe C ×[ý³VÇEõÌ^×Oô AEõ+ åÌ[ýFçÌ^ %çä»K÷*

D

CCAAAA O
)))

What is the sum of the measures of ∠AOD and ∠DOC ?
∠AOD %ç»Ó ∠DOC » ]çY» å^çGZõ_ ×Eõ]çX ? / ∠AOD A[ýe ∠DOC åEõçãSÌ[ý å^çGZõ_ EõTö ?

(A) 900 (B) 1800 (C) 2700 (D) 3600

68. Circumference of a circle is always a little more than .............. the diameter.
AOôç [ýÊwø» Y×»aÝ]ç +Ì̂ ç» [ýîça» ....................... TöêEõ %_Y å[ý$×$K÷*
AEõ×Oô [ýÊãwøÌ[ý Y×Ì[ýaÝ]ç +c÷çÌ[ý [ýîçãaÌ[ý .............................. åUãEõ %” å[ý`Ý*
(A) 6 times (B) 3 times (C) 2 times (D) None of these

6 mS 3 mS 2 mS A$OôçC Xc÷Ì^ / AEõ×»OôC XÌ̂



69. Number of triangles in the given figure is ....................
Tö_Tö ×VÌ̂ ç ×$JôyäOôçTö ]ÇPö ×Åy\ÉöL» aeFîç ..............................* / XÝä»Jô åVCÌ̂ ç ×»Jôy×OôãTö å]çOô ×Åy\ÇöãLÌ[ý aeFîç .............................*

(A) 14 (B) 19 (C) 12 (D) None of these
A$OôçC Xc÷Ì^ / AEõ×»OôC XÌ̂

70. Opposite sides of a rhombus are ...............
»¶‘öç$K÷ AOôç» ×[ýY»ÝTö [ýç§ã^ç» .......................* / AEõ×Oô Ì[ý¶‘öçãaÌ[ý ×[ýYÌ[ýÝTö [ýç§m×_ .....................*
(A) equal (B) parallel (C) equal and parallel (D) None of these

a]çX a]çÜ™ö»ç_ a]çX %ç»Ó a]çÜ™ö»ç_ø A$OôçC Xc÷Ì̂
a]çX a]çÜ™öÌ[ýç_ a]çX A[ýe a]çÜ™öÌ[ýç_ AEõ×»OôC XÌ̂

71. The length of a rectangular hall is 16 metres. If it can be partitioned into two equal square rooms, what is the
area of each partition ?
%çÌ̂ TöçEõç» åEõçPöç_Ý AOôç» éVHïî 16 ×]Oôç»* ̂ ×V åEõçPöç_ÝäOôçEõ VÇOôç a]çX [ýGïçEõç» åEõçPöç_ÝTö \öçG Eõ»ç c÷Ì̂ , åTöãÜ™ö YÒ×TöäOôç %e`» Eõç×_ ×Eõ]çX c÷'[ý ?
AEõ×Oô %çÌ^TöEõçÌ[ý c÷ã_Ì[ý éVHïî 16 ×]OôçÌ[ý* ^×V c÷_×OôãEõ VÇ×Oô a]çX [ýGïçEõçÌ[ý åEõçPöçÌ̂  \öçG EõÌ[ýç c÷Ì̂ , Töã[ý YÒ×Tö×Oô %eã Ì̀[ý Eõç×_ EõTö c÷ã[ý ?
(A) 265 m2 (B) 64 m2 (C) 16 m2 (D) None of these

265 [ýGï ×]. 64 [ýGï ×]. 16 [ýGï ×]. A$OôçC Xc÷Ì̂  / AEõ×»OôC XÌ̂

72. Find the area of the figure shown below :
Tö_Tö ×VÌ^ç ×$Jôy» Eõç×_ ×XSïÌ^ Eõ»ç* / XÝä»Jô åVCÌ̂ ç ×»JôäyÌ[ý Eõç×_ ×XSïÌ̂  EõÌ[ý f

1m(×].) 1m(×].)

5m(×].)

(A) 9 m2 (B) 10 m2 (C) 11 m2 (D) 15 m2

9 [ýGï ×]. 10 [ýGï ×]. 11 [ýGï ×]. 15 [ýGï ×].

73. A cuboid measures 36m x 24m x 18m. How many cubes of edge 6m can be cut from the cuboid ?
36×] x 24×] x 18×] åLçF» %çÌ^TöÝÌ^ HSEõ» Y»ç 6×] [ýç§ ×[ý×`rô ×Eõ]çXOôç HXEõ GPöX Eõ×»[ý Yç×» ?
36×] x 24×] x 18×] ]çãYÌ[ý %çÌ^TöÝÌ^ HXEõ åUãEõ 6 ×] [ýç§ ×[ý×`rô EõÌ^×Oô HXEõ GPöX EõÌ[ýãTö Yç×Ì[ý ?
(A) 72 (B) 144 (C) 36 (D) 288

74. The angles in a right angled isosceles triangle are ......................
a]ãEõçSÝ a]×ˆù[ýç§ ×Åy\ÉöL» åEõçS åEõ+Oôç yÔã] ...........................* / a]ãEõçSÝ a]×ˆù[ýç§ ×Åy\ÇöãLÌ[ý åEõçSm×_ yÔã] ............................*
(A) 600, 600, 600 (B) 900, 600, 300 (C) 900, 450, 450 (D) None of these

A$OôçC Xc÷Ì̂  / AEõ×»OôC XÌ̂
75. Thrice a certain number is 12. Nine times that number will be .................

AOôç ×X×VÛrô aeFîç» ×Tö×XmS ̂ ×V 12 c÷Ì̂ , åTöãÜ™ö aeFîçäOôç» XmS c÷'[ý ........................*
AEõ×Oô ×X×•Ûrô aeFîçÌ[ý ×TöXmS ^×V 12 c÷Ì̂ , Töã[ý aeFîç×OôÌ[ý XÌ̂ mS c÷ã[ý ...........................*
(A) 12 x 9 (B) 12 ÷ 9 (C) 12 x 3 (D) None of these

A$OôçC Xc÷Ì̂  / AEõ×»OôC XÌ̂



General Science / açWýç»S ×[ýpûçX / açWýç»Ì[ýS ×[ýpûçX

76. Which of the following statements is false ?
Tö_» åEõçXäOôç =×Nþ ×]$K÷ç* / XÝä»JôÌ[ý åEõçX =×Nþ×Oô %aTöî ?
(A) Some desert plants do not grow leaves at all

]»Ó\Éö×]Tö åc÷ç¾ç ×Eõ$KÇ÷]çX =×àöV» YçTö XGãL
]Ì[ýÓ\Éö×]ãTö c÷CÌ̂ ç ×Eõ»KÇ÷ =×àöãVÌ[ý YçTöç AãEõ[ýçãÌ[ý GLçÌ̂  Xç

(B) Thick skin protects animals from heat of sun.
QöçPö $K÷çã_ YÒçSÝEõ aÉ̂ ïî» TöçY» Y»ç »lùç Eõã»
å]çOôç »Jôç]QÍöç YÒçSÝãEõ aÉã ï̂Ì[ý TöçY åUãEõ Ì[ýlùç EõãÌ[ý*

(C) In cold regions, plants grow new leaves during winter
`ÝTö_ %‡û_Tö Lç»Eõç×_ =×àöV» XTÇöX YçTö GãL
`ÝTö_ %‡ûã_ Pöç‰øç×VãX =×àöãVÌ[ý XTÇöX YçTöç GLçÌ̂

(D) Bears have thick fur as a protection against cold
Pöç‰øç» Y»ç »lùç Y×»[ýê_ \öç_ÇEõ» QöçPö åXç] UçãEõ
\öç_ÇãEõÌ[ý å]çOôç »Jôç]QÍöç +c÷çãEõ Pöç‰øç åUãEõ [ýgç»JôçÌ̂

77. Why are most of the stomata found on the underside of the leaves ?
YÒçÌ^ \öçG Yy»µÐù ×EõÌ^ YçTö» Tö_Zõçã_ UçãEõ ? / YÒçÌ̂ \öçG YyÌ[ýµÐù åEõX YçTöçÌ[ý XÝä»JôÌ[ý ×VãEõ UçãEõ ?
(A) To prevent plants from losing excessive water through the stomata

Yy»µÐù+×V %Töî×WýEõ ]çyçTö YçXÝ ×XGï]XTö [ýçWýç ×V[ýê_
YyÌ[ýµù ×VÌ̂ ç ^çãTö %×WýEõ ]çyçÌ^ L_ å[ýÌ[ý Xç c÷Ì^ TöçãEõ [ýçWýç åVCÌ^çÌ[ý LXî

(B) To obtain water from air
[ýçÌ̂ Ç» Y»ç YçXÝ %çc÷»S Eõ×»[ýê_
[ýçÌ^Ç åUãEõ L_ %çc÷Ì[ýS EõÌ[ýçÌ[ý LXî

(C) To take in more carbon dioxide.
%×WýEõ Y×»]çãS Eõç[ýïX-Qöç+-%jç+Qö GÐc÷S Eõ×»[ýê_
%×WýEõ Y×Ì[ý]çãS Eõç[ýïX-Qöç+-%jç+Qö GÐc÷S EõÌ[ýãTö

(D) To give out oxygen
%×jãLX ×XGïTö Eõ×»[ýê_
%×jãLX ×XGïTö EõÌ[ýãTö

78. The animals which can live both in water as well as on land are called ...............
YçXÝ %ç»Ó ]ç×Oô =\öÌ̂ ãTö [ýa[ýça Eõ»ç YÒçSÝEõ ........................... å[ýçã_*
L_ A[ýe Øšö_ =\öãÌ̂  [ýa[ýça EõÌ[ýç YÒçSÝãEõ .............................. [ýã_*
(A) polar (B) amphibian (C) reptile (D) None of these

WýÐÓ¾ÝÌ̂  YÒçSÝ =\ö$Jô» YÒçSÝ aÌ[ýÝaÊY A$OôçC Xc÷Ì̂
WýÐÓ[ýÝÌ̂  YÒçSÝ =\ö»JôÌ[ý YÒçSÝ aÌ[ýÝaÊY AEõ×»OôC XÌ̂

79. Onions grow from .....................
×YgÌ̂ çL .................................... » Y»ç LãX½*
×YgÌ̂ çL ................................... åUãEõ LãX½*
(A) bulbs (B) tubers (C) roots (D) None of these

Eõ³V Øö•õÝTö Eõ³V ×`Yç / ]É_ A$OôçC Xc÷Ì̂  / AEõ×»OôC XÌ̂



80. Whales live in water. They belong to ..................
×Tö×]]ç$K÷ YçXÝTö UçãEõ* +cg÷Tö ...........................* / ×Tö×]]ç»K÷ Lã_ UçãEõ* +c÷çÌ[ýç ...........................*
(A) fish (B) reptiles (C) mammals (D) amphibians

]ç$K÷ aÌ[ýÝaÊY / aÌ[ýÝaÊY Ø™öXîYçÌ̂ Ý =\ö$Jô» / =\ö»JôÌ[ý

81. A spider has .............. legs and its body is divided into ........... parts.
]Eõ»ç» ......................... FX æPöe UçãEõ %ç»Ó +Ì̂ ç» åVc÷äOôç ...................... Oôç \öçGTö ×[ý\öNþ*
]çEõQÍöaçÌ[ý .................. ×Oô Yç UçãEõ A[ýe +c÷çÌ[ý åVc÷×Oô ........................... ×Oô \öçãG ×[ý\öNþ*
(A) 6, 3 (B) 8, 4 (C) 8, 2 (D) 6, 2

82. Reflex action is controlled by the ..................
............................. åÌ^ YÒTöÝY ×yÔÌ^ç ×XÌ^Ü—öS Eõã»* / ............................ YÒTöÝY ×yÔÌ̂ ç ×XÌ̂ Ü—öS EõãÌ[ý*
(A) brain (B) heart (C) lungs (D) spinal cord

]GLÇ / ]×Ø™ö›õ c÷ÖV^Ü—ö cg÷çC-ZõçCg / ZÇõaZÇõa å]»Ó]#çø / å]Ì[ýÓ]#ç

83. Which of the following statements is incorrect ?
Tö_» åEõçXäOôç =×Nþ %aTöî ? / XÝä»JôÌ[ý åEõçX =×Nþ×Oô %aTöî ?
(A) Rabies is caused by the bite of an infected dog (B) Fever can be prevented by vaccination

aeyÔ×]Tö EÇõEÇõã» Eõç]Ç×»ã_ L_çTöeEõ å[ý]ç» c÷Ì̂ ×OôEõç Eõ»S» ¥ç»ç L•» å»çWý Eõ×»[ý Yç×»
aeyÔ×]Tö EÇõEÇõÌ[ý Eõç]QÍöçã_ L_çTöáø åÌ[ýçG c÷Ì̂ OôÝEõçEõÌ[ýãSÌ[ý ¥çÌ[ýç L•Ì[ý åÌ[ýçWý Eõ×Ì[ýãTö Yç×Ì[ý

(C) Polio is a viral disease (D) Cholera is caused by bacteria.
Y×_%' A×[ýWý \öç+»ç$K÷L×XTö å»çG/Y×_C AEõ×Oô \öç+Ì[ýçaL×XTö åÌ[ýçG Eõã_»ç å[ýãkô»ÝÌ^ç» ¥ç»ç c÷Ì^ / Eõã_Ì[ýç å[ýãkôÌ[ýÝÌ^çÌ[ý ¥çÌ[ýç c÷Ì^

84. The first vaccination was discovered by .................
.............................. åÌ̂  åYçX-YÒU] [ýç»» [ýçã[ý ×OôEõçEõ»S Yˆù×Tö %ç×¾•õç» Eõ×»×$K÷_* / ................. a[ýï YÒU] OôÝEõçEõÌ[ýS Yˆù×Tö %ç×[ý›õçÌ[ý EõãÌ[ý*
(A) Robert Brown (B) Robin Cook (C) Edward Jenner (D) Alexander Fleming

»[ýçOôÛÛ [ýÐç=S »×[ýX EÇõEõ AQö¾çQïö åLXç» %çã_EõãL‰øç» ænõ×]e
Ì[ý[ýçOôÛ [ýÐç=X Ì[ý×[ýX EÇõEõ AQöCÌ̂ çQïö åLXçÌ[ý %çã_EõãL³QöçÌ[ý ænõ×]e

85. A heavy object has ................. potential energy than a lighter one.
GWýÇ» [ýØ™Çö AOôç» ×Øšö×Tö `×Nþ YçTö_ [ýØ™Çö AOôçTöêEõ ..................................* / AEõ×Oô \öçÌ[ýÝ [ýØ™ÇöÌ[ý ×Øšö×Tö `×Nþ AEõ×Oô c÷ç_Eõç [ýØ™Çö åUãEõ ...........................*
(A) less (B) more (C) same (D) none of these

Eõ] å[ý×$K÷ / å[ý`Ý AãEõ / AEõ+ A$OôçC Xc÷Ì̂  / AEõ×»OôC XÌ̂

86. Inclined plane is an example of .............
åc÷_XÝÌ^çTö_ .................... » =Vçc÷»S* / åc÷_XÝÌ̂ çTö_ .......................... AÌ[ý =Vçc÷Ì[ýS*
(A) Complex machine (B) Compound machine (C) Simple machine (D) none of these

L×Oô_ ̂ Ü—ö å^ì×GEõ  ̂ Ü—ö a»_  ̂ Ü—ö / aÌ[ý_ ̂ Ü—ö A$OôçC Xc÷Ì^ / AEõ×»OôC XÌ̂

87. Boiling point of substance p = 1200C. Melting point of substance p = 250C.
At 200C, we can expect substance p to be ......................
YVçUï p » =Tö_çeEõ = 1200C, YVçUï p » G_XçeEõ = 250C. 200C Tö p YVçUïäOôç åEõçXäOôç %¾ØšöçTö Uç×Eõ[ý ?
YVçUï p AÌ[ý =Tö_çeEõ = 1200C, YVçUï pAÌ[ý G_XçeEõ = 250C. 200C åTö p YVçUï×Oô åEõçX×Oô %[ýØšöçÌ^ UçEõã[ý ?
(A) a gas (B) a liquid (C) a solid (D) None of these

åG$K÷ÝÌ̂  / GîçaÝÌ̂ LÇ_ÝÌ^ç / TöÌ[ý_ åGçOôç / Eõ×PöX A$OôçC Xc÷Ì^ / AEõ×»OôC XÌ̂



88. A mixture of sodium chloride and water can be separated by .................
$K÷×QöÌ̂ ç] zõ'»ç+Qö %ç»Ó YçXÝ» ×] Ò̀SEõ ..................... YÊUEõ Eõ×»[ý Yç×»*
åaç×QöÌ̂ ç] æzõçÌ[ýç+Qö A[ýe Lã_Ì[ý ×] Ò̀SãEõ ............... ¥çÌ[ýç YÊUEõ EõÌ[ýãTö Yç×Ì[ý*
(A) filtration (B) hand picking (C) evaporation (D) distillation

Y×»Øƒöç¾S» ¥ç»ç / Y×Ì[ýØƒöç[ýS c÷çãTöã» [ýç×$K÷ / c÷çãTöÌ[ý [ýç¹YÝ\ö¾S» ¥ç»ç / [ýç¹YÝ\ö[ýS YçTöX» ¥ç»ç / YçTöX

89. Which of the following is not a compound ?
Tö_» åEõçXäOôç A×[ýWý å^ìG Xc÷Ì^ ? / XÝä»JôÌ[ý åEõçX×Oô AEõ×Oô å^ìG XÌ^ ?
(A) Calcium carbonate (B) Sodium Chloride (C) Sulphuric acid (D) Air

åEõ_×$K÷Ì̂ ç] Eõç[ýïãXOô $K÷×QöÌ̂ ç] zõ'»ç+Qö $K÷ç_×Zõ=×»Eõ A×$JôQö [ýçÌ̂ Ç
åEõ_×aÌ̂ ç] Eõç[ýïãXOô a×QöÌ̂ ç] æzõçÌ[ýç+Qö aç_×Zõ=×Ì[ýEõ A×aQö [ýçÌ̂ Ç

90. During solar eclipse which of the following comes in the middle ?
aÉ̂ ïî GÐc÷S» a]Ì̂ Tö Tö_» åEõçXäOôç ]çLTö %¾ØšöçX Eõã» ?
aÉ̂ ïî GÐc÷ãSÌ[ý a]Ì̂  XÝä»JôÌ[ý åEõçX×Oô ]ãWýî %[ýØšöçX EõãÌ[ý ?
(A) Sun (B) Moon (C) Earth (D) None of these

aÉ̂ ïî $Jô³VÐ YÊ×U¾Ý / YÊ×U[ýÝ A$OôçC Xc÷Ì^ / AEõ×»OôC XÌ̂

91. The first man to travel into space was ................
]c÷çEõç`ê_ å^ç¾ç YÒU] LX [ýî×Nþ éc÷ä$K÷ .................................*
]c÷çEõçã` ^çCÌ̂ ç YÒU] ]çXÇbLX c÷ã_X ...................................*
(A) Yuri Gagarin (B) John Glens (C) Neil Armstrong (D) None of these

+=×» åGGç×»S LX æGÀ‡û XÝ_ %ç]rÑôe A$OôçC Xc÷Ì̂
+=×Ì[ý åGGç×Ì[ýS LX æGÀ³a XÝ_ %ç]rÑôe AEõ×OôC XÌ̂

92. Clothes dry faster in winter than in monsoon days, Why ?
`ÝTöEõç_Tö [ýç×»bçTöêEõ ×TöTöç EõçãYç» åaçXEõçã_ £EõçÌ̂  ×EõÌ̂  ?
[ýbïçEõç_ åUãEõ ̀ ÝTöEõçã_ ×\öLç EõçYQÍö TöçQÍöçTöç×QÍö £EõçÌ̂  EõçÌ[ýS ......................*
(A) Because dry air is less humid (B) Wet air is less humid

£›õ [ýçÌ̂ ÇTö %çVÐTöç Eõ] UçãEõ  / £›õ [ýçÌ̂ ÇãTö %çVÐÛTöç Eõ] UçãEõ åaã]Eõç [ýçÌ̂ ÇTö %çVÐTöç Eõ] UçãEõ / %çVÐÛ [ýçÌ̂ ãTö %çVÐÛTöç Eõ] UçãEõ
(C) Dry air is more humid (D) None of these

£›õ [ýçÌ̂ ÇTö %çVÐTöç å[ý×$K÷ UçãEõ / £›õ [ýçÌ̂ ÇãTö %çVÐÛTöç å[ý`Ý÷ UçãEõ AOôçC Xc÷Ì̂  / AEõ×OôC XÌ̂

93. All of the following contribute to pollution except
........................... » [ýç×c÷ã» Tö_» %çOôç+ãEõ+Oôç+ YÒVÉbS [ýRÍôçÌ̂ * / ................................. »K÷çQÍöç XÝä»JôÌ[ý a[ým×_ YÒVÉbS [ýçQÍöçÌ̂ *
(A) thermal power plants (B) automobiles

TöçY`×Nþ åEõ³VÐ ^çX-[ýçc÷X
(C) nuclear power plants (D) hydroelectric power projects

Y»]çSÇ ̀ ×Nþ åEõ³VÐ / YÌ[ý]çSÇ ̀ ×Nþ åEõ³VÐ L_×[ýVÇîd YÒEõ”

94. Which of the following sets represent primary consumers ?
Tö_» åEõçX åEõ+Oôç YÒU] æ`ÒSÝ» \ölùEõEõ [ýÇLçÌ^ ? / XÝä»JôÌ[ý åEõçX×Oô YÒU] æ Ò̀SÝÌ[ý \ölùEõãEõ [ýÇMõçÌ̂  ?
(A) Deer, giraffe, cows (B) Goats, rabits, horses (C) Insects, snails (D) All of these

c÷×»Sç, ×L»çZõ, G»Ó $K÷çG_Ý, ̀ c÷çY§, åHgç»ç YTö†, ̀ ç]ÇEõ %çOôç+ãEõ+Oôç
c÷×Ì[ýS, ×LÌ[ýçZõ, GÌ[ýÓ »K÷çG_, FÌ[ýãGç`, åHçQÍöç, YTö†, ̀ ç]ÇEõ a[ýEõÌ̂ ×Oô



95. When we destroy a forest we destroy .......................
AFX %»Sî W[ýea Eõ»ç ]çãX .................................. W[ýea Eõ»ç [ýÇLçÌ̂ *
AEõ×Oô %Ì[ýSî W[ýea EõÌ[ýç ]çãX ........................... W[ýea EõÌ[ýç [ýÇMõçÌ̂ *
(A) an ecosystem (B) the environment (C) population of wild life (D) food and shelter of wild life

AOôç Y×»×Øšö×TöTöÜ—ö Y×»ã[ý` [ýXî YÒçSÝ» aeFîç [ýXî YÒçSÝ» FçVî %ç»Ó [ýçaØšöçX
AEõ×Oô Y×Ì[ý×Øšö×Tö TöÜ—ö Y×Ì[ýã[ý` [ýXî YÒçSÝÌ[ý aeFîç [ýXî YÒçSÝÌ[ý FçVî A[ýe [ýçaØšöçX

96. Frictional force always reduces ....................
HbïS [ýã_ aVçÌ^ ..................... âÑ÷ça Eõã»* / HbïS [ý_ aVçÌ̂  ................................ âÑ÷ça EõãÌ[ý*
(A) speed (B) velocity (C) acceleration (D) None of these

VÐÓ×Tö å[ýG ±¼ö»S / ±¼öÌ[ýS AOôçC Xc÷Ì^ / AEõ×»OôC XÌ̂

97. Kinetic energy depends on .......................
G×Tö`×Nþ ............................. » CY»Tö ×X\öÛ» Eõã»* / G×Tö`×Nþ .............................. AÌ[ý =YÌ[ý ×X\öÛÌ[ý EõãÌ[ý*
(A) position (B) velocity (C) shape (D) colour

ØšöçX å[ýG %çEÊõ×Tö »e / Ì[ýe

98. Which of the following is not a chemical change ?
Tö_» åEõçXäOôç »çaçÌ^×XEõ Y×»[ýwïøX Xc÷Ì^ ? / XÝä»JôÌ[ý åEõçX×Oô Ì[ýçaçÌ^×XEõ Y×Ì[ý[ýTöÛX XÌ^ ?
(A) Making curd from milk (B) Converting water into steam

GçFÝ»» Y»ç éV éTöÌ̂ ç» Eõ»ç / VÇWý åUãEõ éV éTöÌ̂ çÌ[ý EõÌ[ýç YçXÝ \öçYê_ »ÖYçÜ™ö» Eõ»ç / L_ãEõ [ýçã¹Y Ì[ýÖYçÜ™öÌ[ý EõÌ[ýç
(C) Rusting of iron (D) Heating of coal

å_çTö ]ç]ã» Wý»ç / å_çc÷çãTö ]×Ì[ý»Jôç WýÌ[ýç EõÌ^_ç Vc÷X Eõ»ç / EõÌ̂ _çãEõ GÌ[ý] EõÌ[ýç

99. The back bone is made of ................. bone(s).
å]»ÓV‰ø ................................ Oôç c÷çäQÍöã» G×PöTö* / å]Ì[ýÓV‰ø ............................... ×Oô c÷çQÍö ¥çÌ[ýç G×PöTö*
(A) 1 (B) 33 (C) 34 (D) 35

100. Condensation occurs when a ..................
.............................. »ÖYçÜ™ö» åc÷ç¾çãEõ HSÝ\ö¾S å[ýçã_* / ............................... Ì[ýÖYçÜ™öÌ[ý c÷ã_ HXÝ\ö[ýX c÷Ì̂ *
(A) gas becomes a liquid (B) liquid becomes a gas

åG$K÷ Tö»_ê_ / Gîça TöÌ[ýã_ Tö»_ åG$K÷ê_ / öTöÌ[ý_ Gîçãa
(C) liquid becomes a solid (D) solid becomes a gas.

Tö_» Eõ×PöX YVçUïê_ / TöÌ[ý_ Eõ×PöX YVçãUï Eõ×PöX YVçUï åG$K÷ê_ / Eõ×PöX YVçUï Gîçãa
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